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 

 
   

–      

– 

 

 

)Key()pin( 

 

–     

– 

 

 

 

 

– 

– 



 

– 





 

 

–   

– 

1) PRINT X$;Y$;W$ 
2) IF n1 < n2 THEN min = n1 ELSE min = n2 
3) IF n > 80 and n < 90 THEN Y = Y + 3 * n ELSE Input a , b 
4) PRINT SIN(90 * 3.14 / 180) – Cint((a ^ 2 + b^2) ^ 2) 

 

– –G2C –C2C –B2B –C2B –C2B  

– 

– 

– 

– 

– 

 



 

 

 

– 
1) (x ^ 2 + y ^ 4) / (2 * y * abs(d – 3)) 

  2) ((N + 8) ^ 3 – 5 * Y) / (Y ^ 2 + N ^ 2 * Y) 
–    

– 

1) 
FOR N = 3 TO –6 STEP – 1  
   PRINT N ;  
NEXT N 

 

2) 
INPUT Y2 , Y1 , X2 , X1 
S = (Y2 – Y1) / (X2 – X1) 
PRINT S 

3) 
INPUT X 
M = 1 
FOR J = 5 TO 1 STEP – 1 
   M = M * J 
NEXT J 
M = SQR(X ^ 2 – 1) + M 
PRINT M 

– 

      

 

    Rem$ = k$ + "4" 
  QBELSE.  IF A=0 THEN A=5 
    Print (A – A) mod 5 
  C4  Input B$ , C4 
  STEP  FOR K=1.5 TO K–3  

– 

1) IF N < 10 OR N > 10 THEN REM let N = 5 ELSE End 

 

  

 QBASIC.EXE 
NN 

 



 

 

 

 

– 

total = 0 
FOR J = 1 TO 30 
   INPUT grade 
   total = total + grade 
Next J 
avg = total / 30 
Print avg 

 

–      

– 1) 3 2) False  

– 

– 

 

– 

– 

– amazon.comwww. 

–(EDI) 

–(HTML)(Java)  

– 

(1)  2   10 

 

(2)  6 
(3) 10 
 (4) 
 1 
 3 
(5) –4  

 

 

 


